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The following line graph shows the ratio of expenditure to income of two

persons Shona and Babuv in different months. Study the graph carefully and

answer the questions that follows. ,
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If the expenditure of Shona and the expenditure of Babu in the month of Jan is

equal, find the ratio of the saving of Babu to Shona in the month of Jan.
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If the sum of the income of Shona in the month of April and the income of
Babu in the month of Feb is ¥ 8000; find the total saving of the Shona and Babu

in the given months.
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1. 4500 2.%5000 3.3%4200 4. T4400° 5. Can’t be determined
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Shona and Babu each save ¥ 13200 in the month of April. How much amount
of money should Shona borrow from Babu to equalize their income.
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1.36600  2.%5200  3.%5500 4. 5400 5. %5600
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The expendlfure of Babu in all the months, except Feb, are equal. Find the
ratio of the income of Babu in these months respectively starting from Jan.
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The sum of the two times of the expenditure and three times of the income of Babu in
the month of Jan is equal to the sum of the three times of the expenditure and two
limes of the income of Shona in the Month of June, then find the respective ratio of
the savings of Babu to Shona in the given months.
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There are 450 coupons which can be used in Pedicure and
Hair cutting. Ratio between Males to Females who use their
coupons in Hair cutting is 13 : 7. Number of males who use
their coupons in Pedicure is 72 more than number of females
who use their coupon in Hair cutting. Total number of males
who use their coupon in Pedicure and Haircutling together is
174 more than total number of females who use their coupon
in Pedicure and Haircutting together.
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Males who use their coupon in Pedicure is what percent of the Males who use
their coupons in Haircutting?

USIRIR A 39 FYeT HT I I ard 39, mmﬁﬁmmaﬁr
IYANT HTT aTek 98T FT fhaer gfaera §82°
A.200% B.100%  C.0% D. 150% E. None of these



Find the ratio between Total number persons who use their coupons in
Pedicure to total number of gersons who use their coupons in Haircutting?

WERIR A AT FYA F &I dlel 3R del Heald A Hq FYT FI

Wmﬁmmmmmmaﬁrﬁm
A.52:23 B.B:9 C. 8 7 D.7:8 E. None of these



Females who use their coupon in Haircutting is how much more than Females

who use their coupon in Pedicure? . ‘
SATHICH H YA FYaA FT 3YANT Flal dlell ARRATT YSIFAR A 9 FIT T
3YANT FI qrell At A goe H frae sftw §7

A.15 B. 45 C. 30 D. 60 E. None of these



Out of males who use their coupons in Haircutting, 25% belongs to city A, then
find number of males who use their coupons in Haircutting which doesn’t

belongs to city A?
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